
Chemistry 221 

Worksheet #2
  Solutions

Oregon State University
[image: image1.png]2.

o .
1A= 16N
Jam= m"'r/v

/m,[o/'\

L= (gont
Jpl= imj
Lot

‘A marathon race covers a distance of 42.195 km. What is this distance in meters? In.

" ] k= 0.€UIRRles  Lkm = ldOM

&2AS ke = 42.195 kn K(W"M = #2195m
22,195 Kn = €2AIS kx5 62(}?/'\:'«/) = 26.219mdos

Molecular distances ace usually giveh in nanorheters (am) or in picometers (pm)
Howeves, the angstrom (A) is sometimes used where 1 A = 1 x 109 m. The angstrom i
‘ot an SI unit. If the distance between the platinum

d=1974 (P9 atom and the nitrogen (N) atom in the cancer
chemotherapy drug cisplatin is 1.97 A, what is the
Ol SNHy distance in nanometers? In pmmm>

o W, [q3h = (4% (;a m) [ ) 0 i4Fam
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Some soft drinks are sold in bottles with a volume of 1.5 L. What is the volume in
milliliters? In cubic centimeters? In cubic decimeters?
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‘What experiment can you use to:
(@) Separate salt from water?

Lol off b (Lstlaben)

) Separate iron flings From small pieces of lead? J n
e « MA7/Mt (Few/M/mﬁ AL o n )
© Separate elemental sulfu from sugar?
dissoloe Sugee o waler

Six observations ace listed below. Which of these observations identify chemical
‘properties?

(@) Sugaris soluble in water. ([-a/l
) Water boils at 100 °C Jem
(© Ultraviolet light converts ol (o q 0 Os (olecular oxygen). <

(@ Ice s less dense than water.
(¢) Rubidium metal reacts violentl (w. water. ham
() Chlorine is a yellow gas.  pohg
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What i the vl epresenred by he above arrow? 3 TS
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Which digis ase precisely known? ___ 5~ T

Which digits estimated? D

) How many significant figures are in this value?

7. Give the number of significant figures in cach of the following numbers
@ 000546 3
) 23051045 4
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8 Canry our the folloving operations. Provide the answer with the correct number of

significant figures.
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